354 ¢ Chapter 2 - Solutions

Integers - Solutions

2.1 The Number Line

. a) I15C b) =10°C ¢)$20 d)$-15 ¢ +5 0 -2 ) 8850m h) -86m

. a) b) < ¢ d< o> Nh= g> k= i< ) k> D

3. a) -4-3,0.1 b) -8,-5-3.0 ¢ -4-2,2.4 d) —-4,-3,-2,-1

Lom T a0 1 23 48 h’s4v:|,'x|.‘\4<c"ll-‘l"‘f“‘
‘”~4\:|.y.n:las L S4-3-2-101234S$

. 2) T b

s S4-32-1 01 23 435 )541:1:.11\450<43:|ol.“4‘
d) * e

5432~ 01 2345 )54121;|:115

6. a) x22 b) x<4 ¢) 2Sx<4 d) x2-1 e x<1 N -1<x=21
7. a) —3,negative b) 3, positive ¢) —3,negative d) 3, positive ¢) 3, positive ) —3, negative

8 a)I12 b3 ¢ -3 d =12 ¢ -1 N1 g - h) + i) whenxispositive J) when x is negative

2.2 Multiplication of Integers

I. a) =6 b) =24 ¢) -10 d) =21 e 18 N —49 g —-36 h) —48 )72 j) —143 k) 144 ] 68
m) 1125 n) =350 o) -560 p) —275

a) 72 b) =56 ¢ -60 d)6d ¢ -28 HO g —-64 h) 125 Q) 110 j) 144

a) =30 b)90 ¢) 144 d) 120 ¢ —168 f) 120 g) 900 h) —256

a) =120 b) =720 ¢) 720 d) —-720

a) =6 b)24 ) —48 d) 144 ¢ —192 ) 288 g) 120 h) -288 i) =576 j) 360

a) -5 b) -4 €30 d -5 eS8 Nl g -3 h -4 D4 j) -6

a) negative b) positive ¢) negative d) negative e) negative f) negative  g) negative  h) positive

® N g s ow o

a) a positive, b negative, or a negative, b positive  b) either a or b zero, or both zero

¢) aand b both positive, or @ and b both negative

9, a) oneofa, b, or ¢ negative, or a, b, and ¢ all negative  b) at least one of a, b, or ¢ are zero
¢) all values positive, or 2 of the 3 values of @, b, or ¢ negative

10, 176 —2(12) =152 lbs

11. 2460 - 32(40) = S1180

12. 800-16 = 12800 m high

13. 245000 = 5(=1620) = 245000 + 5- 1620 = $253 100

14. Brad =—-45(52)= $ —2340, Ken — 180(12) =~ S2160, Brad lost $180 more than Ken

15. The product of two positive numbers, because the product of two negative numbers is positive, and the sum of two negative numbers
is negative, and a positive number is greater than a negative number.

2.3 Division of Integers

1. a) negative b) positive ¢) multiplication d) negative €) positive

2. 04 b)S 14 -7 -7 N-4 -9 =12 D6 O KIl ) -6 mo
n) undefined o) 31 p) undefined
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Lot w-t 9t 9-2 g-L 0f p-2 w-F 0k 04
4 a) -1 b |L 0 =12 d)li d N ':,:

s ow-4 Bst o-11 @nd o-nd 01l -2 Wy

6. a) positive  b) negative  ¢) positive  d) negative  ¢) positive  f) negative

7. l:':“)) 6 days

8. ! L"‘“”r =~ | 725 average annual change in population

g, 840 ;s“‘.“ ~47, lost 47 m's

10, =30 =2 fperyear

n =21 l‘xlﬁlr-ll*l:‘ 71—2i"7_1)"“"11 "

12 150~ 1426 =150 1 26= 1173 bs

13. 1f 8 students eat 8 hotdogs in 8 minutes, then | student eats | hotdog in § minutes Therefore 50 students would eat 50 hotdogs in

8 munutes.
3

14 2xIxgxg=
2.4 Order of Operations
L oayl b -1 ¢ -1 dl ¢ ~I n-1 gl6 h =32 1) 16 j)32 Kk -16 ) -32
2. a)l0 b)I1S ¢4 d) 100 g0 NO I3 hIo 4l -4 K 10 H2 m4d n)8 o)l6
P9 @3 n
3. a) 10° b) 100 ¢ 10° d) 10°
4 22 p ¥ 925 967
5 a)2233 bh55666 ¢c) -2-2:5'5'5 d) (=2)(-=2)5'55
6. a) Added instead of multiplied first. 6 +3 2=6+ 6=12
b) Added instead of multiplied fist. 5+3-4=5+12=17
¢) Subtracted instead of divided first. 8 —4=2=8 2=6
d) Subtracted instead of divided first, 12-3+3 = 12-1=11
¢) Multiplied instead of exponents first. 3 2’=3:4=12
f) Multiplied instead of exponents first. 4 2'=44=16

@) Must work from left to right with adding and subtracting. 10-6+3=4+3=7

h) Must work from left to night with subtraction. 0-6-3=4-3=1

i) Brackets must be done first. (2 + 3P =5

i
K) Brackets must be done first. 3(6-4)=32=6

Brackets must be done first. (8 —2)' = 6° =36

1) Brackets must be done first. 6(3+2)=6-5=30
7. 8) 2,-3,-4 b) -4,-3,2 ¢ -4, 2.-3 d) -3,2-4 ¢ —-4,2-3 N -32-4
8 8) (=542)3 B) 5 (3-3)6 O (=4F-(3:2F d) —(4-3V+(8=2F @ 7:%’“) ) —6=(2+1)+(1 -3
9. a) 36em* b) S6em* ¢) 82em'  d) 66cm? -
10. a) =90 b) -8 ¢ —1 d) -7 €8 N12 g7 h -6
11 26" Cto 10" C is an increase of 36" C over 9 hours, }‘?Ef— = 4" C per hour

12. 2'% = 1024 ancestors
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13

4.

(T3 =(37N=11 =

110

s $10 per item

Distance 8xd4 0 ~8x4 0 8§x4 0 84 0 x4
Time 4 | 4 | 4
(~8x4) 5 160 m, 5 444 1=24 minutes. The ocean is 160 m deep

2.5 Chapter Review

1.
2

a) $-20 b)$

500

LLLrres

)
‘—

VS h a4 012 34s B A3 12
4 <4\3|(T|:1¢<
a) x<2 b)x=20 ¢ x 3 d) -3<x<s-1

) -2 b) -32
a) =28 b) -21

a) 135 b) 168

¢) 40 d) -60 ¢

¢ —60 d) 420 ¢

a) ~360 b) 2400 ¢) -2880 d) 720

a) -6 b) -19
R 9
a) "9 b) =25

. a) 0 b) undefiped
.8 -1 b1l ¢
. 8) -4 b) 12 ¢
. a) (—6+2) (8=

. a) =8 b) -23

¢) ~11 d) 13
3 5
© 3 d) w3

¢ —16 d) - e) —3-

16
-1 d) -1 ¢ -1

) =6 d)0 eI NHI6 g9

84

f -

120

N1

2) b) 48=(4+2)=(2x2)

c)Z; d2 el

f) 64

3
7

96

) —3840

N ®-14 it p-2 p3

h) -36

g) 64 h) =729

io

¢) =5+(3-7F+2+(1-3) d) (2*°-3) 6-(3+27)

~
4
)
-

-
-
”
’
"
l ‘
=

D9
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